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P g SR
ESR S TR = 1 =i Q1 IV NI )
By 3% A FI044E01 H 24 H eI Dt e/ 84 (Biir)
fh 4 JE Hh & Wae | %K E=E e T fE g2y ]

X R & JE 10. 00| AHxf 50 500 972 659 324
B | 10,00 fxt|  242| 2,420 o72| 0711 540
NS £ % 10. 00 | #856f 277 2,770 1,188 1,094 842
e | 1000t 50| 1,500/ 1,080 ¢ 697| 378
ZiED a4 10. 00 | #H%f 4 40| 2,808| 1,188 648
R (r— 5. 00| FHxf 20 100 3,888 2,290 540
H X O 13. 00| fHxf 192 2, 496 864 697 486
X H D e JE 12. 00 | #H%f 803 9,636 972 774 432
1T NAEL w5 4. 00| fHxf 107 428 2,376| 1,951 1,566
H % ol 3. 00 [ FH %} 65 195 1,998 1,025 756
H A [l 1. 00| AH%t 220 220 648 579 432
= 1 | 5.00 #Ixf| 18 90| 2,160| 1,860| 1,620
A 5 2. 00 [ FH %} 217 4341 1,080 884 540
wom | 0.30[#a%r| 250 6| 167| 155 140
LE & e K 4. 00| FHxf 43 172 594 463 432
[N w5 5. 00 | FHx} 1, 253 6,265| 2,484 1,984| 1,296
T b= b & 3. 00| FH*} 10 30 1,512 1, 469 1, 404
a0 FoEk L 2. 00 [ FH %} 10 20| 2,160 2,041| 1,944
w3 w5 5. 00 [ #H %} 15 750 1,944 1,800| 1,404
RS e S 10. 00| AHxf 89 890| 3,240| 2,461| 2,268
A= 4 AbiEiE 10. 00 | ¥ 19 190 2,754 2,541 1, 404
B ¥ = 10. 00 | #H % 100 1,000 2,916| 2,106| 1,728
£ A AL 20. 00 | #H 5%} 185 3,700 4,860 3,929 3,078
(= | 10,00 Mxt| 201 2,010 3,024 2617 1,890
L&A O 10. 00 | #B5f 464 4,640 3,240 2,767 1,296
PF=—1L & & 4. 00 | AH%F 369 1,476 1,944 1,344 1,161
Tuyal— M5 6. 00 | FHxf 263 1,578 2,916 2,737| 2,160
= 1| .00 fxt| e8| 306| 2,808 2,585 1,206
AEMEE w5 0. 10| #Hxf | 3,350 335 173 113 65
ZDEH £ ¥ 0. 20 [ #Hx} 1, 500 300 70 61 48

LU E % 0. 20 | FH %} 300 60 86
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P g SR
ESR S TR = 1 =i Q1 IV NI )
RHE A FI044E01 H 24 H eI Dt e/ 43 b (Biir)
i 4 JE = Wae | %K F e T fE g2y ]

38 Foak L 10. 00 | #H%F 347 3,470 2,376| 1,626 540
5 U H & 10. 00| FA % 832 8,320 4,320 36
SR iR 10. 00| AH%F 83 830| 2,916 246
T =LA JE VD 9. 00 | FHxf 10 80| 7,560 3, 240
Avava 7 4 U ¥ | 13.00]| A%t 7 91 2, 268
HEFH D & [ 0. 27 | ¥H %} 3, 422 927 702 615 486
S X & ) 0. 25| FHx} 8, 150 2, 045 540 432 270
IRBHD Y £ IH 0. 25| FH*} 2,530 635 497 419 292




